

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: January 2, 2025

Progress Estim 8	ate Number		240315-C04 Emery Sapp & Sons, Inc				4 Original Contract Amour Net Change Order Amou Current Contract Amoun	nt \$36,337.70
Approval Date								By User
January 2, 2025			Generated and Appro	ved (a	and should be considere	d Draft) at	the Project Office Level by	mosesj2
January 2, 2025		Re	eviewed and Approved (and s	hould be considered Dra	ift) at the I	Resident Engineer Level by	penner1
January 6, 2025			Revie	wed a	and Approved at the Cen	tral Office	Controllers Office Level by	ramses1
Original Comp	oletion Date	Current Com	npletion Date	Actual Completion Date % of Current Contract A				nt Complete
November 2	27, 2024	November			97.92%			
	Contra	ct Informational Date	es		Milestones			

	Contract Informational Dates											
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract									
Acceptance Date												
Awarded Date	April 3, 2024	April 3, 2024										
Letting Date	March 15, 2024	March 15, 2024										
Notice to Proceed Date	June 3, 2024	June 3, 2024										
Open to Traffic Date	December 16, 2024	December 16, 2024										
Work Began Date	September 16, 2024	September 16, 2024										

Contract Total Pay For Estimate No. 8										
	This Estimate	Previous	To Date							
240315-C04 Total Posted Items Pay Gross Item Adjustments Incentive Disincentive	\$18,456.20 \$27,288.90 \$0.00 \$0.00	\$2,099,942.15 \$0.00 \$0.00 \$0.00	\$2,118,398.35 \$27,288.90 \$0.00 \$0.00							
Liquidated Damage Other Contract Adjustmen	\$0.00 ts \$0.00	\$0.00 \$0.00 \$2,099,942.15	\$0.00 \$0.00 \$2,145,687.25							
Contract Total Payable This Estimate:	\$45,745.10									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
J4P3488	0340	6161030	\$103.000	30	\$3,090.00			
	0390 6200003 PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN., LF \$8.250 WHITE							
	0400	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	LF	\$26.000	57	\$1,482.00	
	0410	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.600	5,587	\$3,352.20	
	0420	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.750	3,098	\$2,323.50	
	0925	9031270A	2 IN. PSST POST - 12 GA.	LF	\$17.750	32	\$568.00	
	0960	9035004A	SH-FLAT SHEET	SQFT	\$24.300	3	\$72.90	
	0990	9039902	MISC.REMOVE AND RESET SIGN	EA	\$420.000	2	\$840.00	
	5003	9039901	MISC.SIGN REMOVALS	LS	\$5,145.000	1	\$5,145.00	
	5004	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	EA	\$197.300	2	\$394.60	
Project J4F	23488 - Tot	al					\$18,456.20	
Overall - To	otal						\$18,456,20	

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 3/23/2023 Page 1 of 17



Pay Estimate Created Date: January 2, 2025

Progress Estimate Number 8 Contract ID 240315-C04 Pay Period Start December 16, 2024 Original Contract Amount \$2,126,972.40 Pay Period End January 1, 2025 Net Change Order Amount Current Contract Amount \$36,337.70 Current Contract Amount \$2,163,310.10

ject nber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3488	0090	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material			-31.5	\$98.00	(\$3,087.00)
	0090	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	31.5	\$98.00	\$3,087.00
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material			-7,929.9	\$72.00	(\$570,952.80)
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Thickness Adjustment	Lot 1 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$2,509.20
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Strength Adjustment	Lot 1 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$2,509.20
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Thickness Adjustment	Lot 2 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$2,689.20
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Strength Adjustment	Lot 2 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$2,689.20
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Thickness Adjustment	Lot 3 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 104.1.			\$5,719.50
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Strength Adjustment	Lot 3 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$6,975.00
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Thickness Adjustment	Lot 4 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$2,098.80
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Other Item Adjustment	PCCP QC/QA Strength Adjustment	Lot 4 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.			\$2,098.80
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user mosesj2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	7,929.9	\$72.00	\$570,952.80
	0150	MISC.	Material			-959.6	\$105.00	(\$100,758.00)
	0150	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.	959.6	\$105.00	\$100,758.00
	0160	CONCRETE GUTTER TYPE A	Material			-51	\$98.00	(\$4,998.00)
	0160	CONCRETE GUTTER TYPE A	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 8 on the current Payment Estimate.	51	\$98.00	\$4,998.00

Revision 3/23/2023 Page 2 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: January 2, 2025

Progress Estimate Number 8 Contract ID 240315-C04 Prime Contractor Emery Sapp & Sons, Inc. Pay Period Start December 16, 2024 Original Contract Amount \$2,126,972.40 Pay Period End January 1, 2025 Ret Change Order Amount \$36,337.70 Current Contract Amount \$2,163,310.10

ject nber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3488	0170	CURB AND GUTTER TYPE B	Material			-2,042	\$42.00	(\$85,764.00
	0170	CURB AND GUTTER TYPE B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user mosesj2 overridding Payment Estimate Exception 10 on the current Payment Estimate.	2,042	\$42.00	\$85,764.00
	0180	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	Material			-358	\$5.00	(\$1,790.0
	0180	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user mosesj2 overridding Payment Estimate Exception 11 on the current Payment Estimate.	358	\$5.00	\$1,790.0
	0230	MISC.	Material			-424	\$35.00	(\$14,840.00
	0230	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user mosesj2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	424	\$35.00	\$14,840.00
	0240	MISC.	Material			-180.6	\$147.00	(\$26,548.20
	0240	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user mosesj2 overridding Payment Estimate Exception 14 on the current Payment Estimate.	180.6	\$147.00	\$26,548.20
	0400	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material			-57	\$26.00	(\$1,482.00
	0400	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user mosesj2 overridding Payment Estimate Exception 16 on the current Payment Estimate.	57	\$26.00	\$1,482.00
	0410	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-5,587	\$0.60	(\$3,352.2)
	0410	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user mosesj2 overridding Payment Estimate Exception 17 on the current Payment Estimate.	5,587	\$0.60	\$3,352.20
	0420	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-3,098	\$0.75	(\$2,323.50
	0420	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user mosesj2 overridding Payment Estimate Exception 19 on the current Payment Estimate.	3,098	\$0.75	\$2,323.50
	0790	LUMINAIRE, LED-A	Material			-13	\$320.00	(\$4,160.00
07	0790	LUMINAIRE, LED-A	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user mosesj2 overridding Payment Estimate Exception 21 on the current Payment Estimate.	13	\$320.00	\$4,160.00
								\$27,288.9

Revision 3/23/2023 Page 3 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	n				
Project Number	Number Proj. Description Number										
J4P3488	FAF 291-1(90)	Roundabout	291	CASS	at the south intersection of	Route 58 near Raymore					
Totals by J	Job Numbe	rs									
J4P3488		d Item Pay Item Adjustmo		Item Pay	This Estimate \$18,456.20 \$27,288.90 \$45,745.10	Previous \$2,099,942.15 \$0.00 \$2,099,942.15	To Date \$2,118,398.35 \$27,288.90 \$2,145,687.25				
	Liquid	tive centive dated Damages Contract Adju:			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Revision 3/23/2023 Page 4 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 5021108, Project Item Line Number 0090, Material Set 502110896, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	CO needs to report PAL for dowels.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 5021108, Project Item Line Number 0090, Material Set 502110896, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 5021333, Project Item Line Number 0100, Material Set 502133396, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	CO needs to report PAL for dowels.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 5021333, Project Item Line Number 0100, Material Set 502133396, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 5029905, Project Item Line Number 0110, Material Set 502990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action 0501CCPAQCQA Pavement is insufficient.	DM to adjust reported quantities.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6089905, Project Item Line Number 0150, Material Set 608990596, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6089905, Project Item Line Number 0150, Material Set 608990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	ESS needs to complete reporting.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6091041, Project Item Line Number 0160, Material Set 609104196, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	CO needs to report rebar.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6091041, Project Item Line Number 0160, Material Set 609104196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6091052, Project Item Line Number 0170, Material Set 609105296, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6092011, Project Item Line Number 0180, Material Set 609201196, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6099903, Project Item Line Number 0230, Material Set 6099903, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6099903, Project Item Line Number 0230, Material Set 6099903, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6099903, Project Item Line Number 0240, Material Set 6099903, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6099903, Project Item Line Number 0240, Material Set 6099903, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	CO needs to report PAL for cure.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6200018, Project Item Line Number 0400, Material Set 620001896, Material 1048PMPFYL - Preformed Thermoplastic Marking Tape YL, Acceptance Action Generic 1048PMPFYL is insufficient.	Thermoplastic marking needs to be reported.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6205901A, Project Item Line Number 0410, Material Set 6205901A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Marking paint needs to be reported.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6205901A, Project Item Line Number 0410, Material Set 6205901A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Reflective beads for pavement marking needs to be reported.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6205902A, Project Item Line Number 0420, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Marking paint needs to be reported.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 6205902A, Project Item Line Number 0420, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Reflective beads needs to be reported for pavement marking.	mosesj2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3488, Item 9011311, Project Item Line Number 0790, Material Set 9011311, Material 0901LHXX - Highway Lighting Material, Acceptance Action Generic 0901LHXX is insufficient.	CO needs to report lighting cert.	mosesj2	Overridden

Revision 3/23/2023 Page 5 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240315-C04	J4P3488	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$7,000.00	\$7,000.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$19,000.00	\$19,000.00
		0001	0030	2031000	CLASS A EXCAVATION	6,103.00	117.00	6,220.00	CUYD	6,103.00	\$13.50	\$82,390.50
		0001	0040	2035500	EMBANKMENT IN PLACE	2,267.00	0.00	2,267.00	CUYD	2,267.00	\$1.00	\$2,267.00
		0001	0050	2036000	COMPACTING EMBANKMENT	4,883.00	118.00	5,001.00	CUYD	4,883.00	\$2.00	\$9,766.00
		0001	0060	2037075	COMPACTING IN CUT	4.50	0.00	4.50	STA	4.50	\$1,400.00	\$6,300.00
		0001	0070	2063000	CLASS 3 EXCAVATION	1,091.00	0.00	1,091.00	CUYD	1,091.00	\$8.30	\$9,055.30
		0001	0080	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	10,177.00	60.00	10,237.00	SQYD	10,237.00	\$12.50	\$127,962.50
		0001	0090	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	31.50	0.00	31.50	SQYD	31.50	\$98.00	\$3,087.00
		0001	0100	5021333	CONCRETE PAVEMENT (9 1/2 IN. NON-REINFORCED, 15 FT.	7,929.90	0.00	7,929.90	SQYD	7,929.90	\$72.00	\$570,952.80
		0001	0110	5029905	JOINTS) MISC.8 IN. TINTED CONCRETE TRUCK APRON	585.00	0.00	585.00	SQYD	585.00	\$95.00	\$55,575.00
		0001	0120	6029902	MISC.WITNESS POST ASSEMBLIES	26.00	0.00	26.00	EA	0.00	\$50.00	\$0.00
		0001	0130	6053020A	FRENCH UNDERDRAIN	322.00	0.00	322.00	LF	322.00	\$25.00	\$8,050.00
			0140	6053030A	PIPE AGGREGATE PAVEMENT EDGE DRAIN	102.00	0.00	102.00	LF	102.00	\$18.25	\$1,861.50
		0001	0150	6089905	MISC.8 IN. TINTED CONCRETE MEDIAN STRIP	959.60	0.00	959.60	SQYD	959.60	\$105.00	
		0001										\$100,758.00
		0001	0160	6091041	CONCRETE GUTTER TYPE A	51.00	0.00	51.00	LF	51.00	\$98.00	\$4,998.00
		0001	0170	6091052	CURB AND GUTTER TYPE B	2,042.00	0.00	2,042.00	LF	2,042.00	\$42.00	\$85,764.00
		0001	0180	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	358.00	0.00	358.00	LF	358.00	\$5.00	\$1,790.00
		0001	0190	6096030A	FURNISHING TYPE 3 ROCK DITCH LINER	153.00	-11.00	142.00	CUYD	142.00	\$60.00	\$8,520.00
		0001	0200	6096043	PLACING TYPE 3 ROCK DITCH LINER	153.00	-11.00	142.00	CUYD	142.00	\$59.00	\$8,378.00
		0001	0210	6096050	BEDDING MATERIAL FOR ROCK DITCH LINER	55.00	-4.00	51.00	CUYD	51.00	\$125.00	\$6,375.00
		0001	0220	6097000	ROCK LINING	33.00	0.00	33.00	CUYD	33.00	\$113.00	\$3,729.00
		0001	0230	6099903	MISC.3 FT ROLL BACK CURB & GUTTER	424.00	0.00	424.00	LF	424.00	\$35.00	\$14,840.00
		0001	0240	6099903	MISC.CONCRETE FLUME	180.60	0.00	180.60	LF	180.60	\$147.00	\$26,548.20
		0001	0250	6099907	MISC.DECORATIVE ROCK	213.00	0.00	213.00	CUYD	213.00	\$381.00	\$81,153.00
		0001	0260	6113020	FURNISHING TYPE 2 ROCK BLANKET	327.00	7.00	334.00	CUYD	320.00	\$60.00	\$19,200.00
		0001	0270	6113040	PLACING TYPE 2 ROCK BLANKET	327.00	7.00	334.00	CUYD	320.00	\$37.50	\$12,000.00
		0001	0280	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.00
		0001	0290	6141028	GRATE AND BEARING PLATE (5 FT. 1 IN. X 3 FT. 1 IN. OR 1549 MM X 940 MM)	2.00	0.00	2.00	EA	2.00	\$3,375.00	\$6,750.00
		0001	0300	6143013	MANHOLE FRAME AND COVER, TYPE 3	19.00	0.00	19.00	EA	19.00	\$363.00	\$6,897.00
		0001	0310	6161005	CONSTRUCTION SIGNS	2,442.00	-32.00	2,410.00	SQFT	1,956.00	\$10.40	\$20,342.40
		0001	0320	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$51.60	\$206.40
		0001	0330	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	90.00	\$10.40	\$936.00
		0001	0340	6161030	TYPE III MOVEABLE BARRICADE	40.00	30.00	70.00	EA	70.00	\$103.00	\$7,210.00
		0001	0350	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	1.00	5.00	EA	5.00	\$4,935.00	\$24,675.00
		0001	0360	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$929.00	\$0.00
		0001	0370	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$208,950.00	\$208,950.00
		0001	0380	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0390	6200003	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 4 IN., WHITE	144.00	0.00	144.00	LF	144.00	\$8.25	\$1,188.00
		0001	0400	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	57.00	0.00	57.00	LF	57.00	\$26.00	\$1,482.00
		0001	0410	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,587.00	0.00	5,587.00	LF	5,587.00	\$0.60	\$3,352.20
		0001	0420	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,098.00	0.00	3,098.00	LF	3,098.00	\$0.75	\$2,323.50
		0001	0430	6240104A	SEPARATION GEOTEXTILE	1,445.00	9.00	1,454.00	SQYD	1,454.00	\$2.40	\$3,489.60
		0001	0440	6262000A	PORTLAND CEMENT CONCRETE SHOULDER RUMBLE STRIP	10.50	0.00	10.50	STA	8.00	\$120.00	\$960.00

Page 6 of 17 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

lote: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	is Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240315-C04	J4P3488	0001	0450	6262001	PORTLAND CEMENT CONCRETE CENTERLINE RUMBLE STRIP	4.50	0.00	4.50	STA	4.50	\$185.00	\$832.50
		0001	0460	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$31,000.00	\$31,000.00
		0001	0470	7250418	18 IN. PIPE GROUP C	22.00	8.00	30.00	LF	30.00	\$57.00	\$1,710.00
		0001	0480	7250424	24 IN. PIPE GROUP C	24.00	20.00	44.00	LF	44.00	\$71.00	\$3,124.00
		0001	0490	7261015	15 IN. PIPE GROUP A	497.00	0.00	497.00	LF	497.00	\$46.50	\$23,110.50
		0001	0500	7261024	24 IN. PIPE GROUP A	200.00	0.00	200.00	LF	200.00	\$73.00	\$14,600.00
		0001	0510	7261036	36 IN. PIPE GROUP A	413.00	0.00	413.00	LF	413.00	\$133.00	\$54,929.00
		0001	0520	7269903	MISC.29 IN X 45 IN CLASS IV ELLIPTICAL REINFORCED CONCRETE PIPE CULVERT	138.00	0.00	138.00	LF	138.00	\$240.00	\$33,120.00
		0001	0530	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	67.00	0.00	67.00	FT	67.00	\$1,076.00	\$72,092.00
		0001	0540	7319902	MISC.SPECIAL GRATE INLET 6 FT X 2.5 FT	1.00	0.00	1.00	EA	1.00	\$8,238.00	\$8,238.00
		0001	0550	7319903	MISC.MODIFIED TYPE T PRECAST CONCRETE DROP INLET 5 FT X 5 FT	47.00	0.00	47.00	LF	47.00	\$932.00	\$43,804.00
		0001	0560	7320615A	15 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	3.00	0.00	3.00	EA	3.00	\$437.00	\$1,311.00
		0001	0570	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$620.50	\$620.50
		0001	0580	7320636A	36 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$1,598.00	\$1,598.00
		0001	0590	7320818A	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END	2.00	0.00	2.00	EA	2.00	\$399.00	\$798.00
		0001	0600	7320824A	SECTION 24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END	2.00	0.00	2.00	EA	2.00	\$536.50	\$1,073.00
		0001	0610	7329902	SECTION MISC.29 IN X 45 IN CLASS IV ELLIPTICAL FLARED END	4.00	0.00	4.00	EA	4.00	\$2,175.00	\$8,700.00
		0001	0620	8025006	SECTION MULCHING	2.90	0.00	2.90	ACRE	2.90	\$929.00	\$2,694.10
		0001	0630	8051000A	SEEDING - COOL SEASON GRASSES	2.10	0.00	2.10	ACRE	2.10	\$1,672.50	\$3,512.25
		0001	0640	8061003	SEDIMENT TRAP EXCAVATION	45.00	0.00	45.00	CUYD	0.00	\$55.50	\$0.00
		0001	0650	8061004	SEDIMENT TRAP ROCK	45.00	0.00	45.00	CUYD	0.00	\$100.75	\$0.00
		0001	0660	8061005	ROCK DITCH CHECK	238.00	0.00	238.00	LF	110.00	\$19.50	\$2,145.00
		0001	0670	8061006	ALTERNATE DITCH CHECK	1,358.00	0.00	1,358.00	LF	1,080.00	\$6.70	\$7,236.00
		0001	0680	8061007A	CURB INLET CHECK	20.00	0.00	20.00	EA	0.00	\$114.00	\$0.00
		0001	0690	8061016	SEDIMENT REMOVAL	151.00	0.00	151.00	CUYD	20.00	\$19.00	\$380.00
		0001	0700	8061017	TEMPORARY SEEDING	0.80	0.00	0.80	ACRE	0.00	\$1,136.00	\$0.00
		0001	0710	8061019	SILT FENCE	710.00	1,017.00	1,727.00	LF	1,727.00	\$3.50	\$6,044.50
		0001	0720	8064130	TYPE 3 TURF REINFORCEMENT MAT	2,154.00	0.00	2,154.00	SQYD	2,154.00	\$5.40	\$11,631.60
		0001	0730	8064140	TYPE 3B EROSION CONTROL BLANKET	8,000.00	0.00	8,000.00	SQYD	8,000.00	\$1.40	\$11,200.00
		0010	0740	2153000	SHAPING SLOPES, CLASS III	3.00	1.00	4.00	100F	4.00	\$750.50	\$3,002.00
		0010	0750	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	75.00	100.00	175.00	LF	175.00	\$26.00	\$4,550.00
		0010	0760	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	2.00	4.00	EA	4.00	\$3,200.00	\$12,800.00
		0020	0770	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	13.00	0.00	13.00	EA	13.00	\$2,839.00	\$36,907.00
		0020	0780	9011112	BRACKET ARM, 12 FT. OR 3.6 M	13.00	0.00	13.00	EA	13.00	\$1,115.00	\$14,495.00
		0020	0790	9011311	LUMINAIRE, LED-A	13.00	0.00	13.00	EA	13.00	\$320.00	\$4,160.00
		0020	0800	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	1.00	\$9,110.00	\$9,110.00
		0020	0810	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	100.00	0.00	100.00	LF	100.00	\$20.00	\$2,000.00
		0020	0820	9014004	CONDUIT, 4 IN. RIGID, PUSHED	277.00	0.00	277.00	LF	0.00	\$40.00	\$0.00
		0020	0830	9015010	TRENCHING TYPE I	1,824.00	0.00	1,824.00	LF	1,824.00	\$8.20	\$14,956.80
		0020	0840	9016110	PULL BOX, PREFORMED CLASS 1	8.00	0.00	8.00	EA	8.00	\$1,700.00	\$13,600.00
		0020	0850	9017002	CABLE, 2 AWG 1 CONDUCTOR	372.00	0.00	372.00	LF	372.00	\$2.20	\$818.40
		0020	0860	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	1,170.00	0.00	1,170.00	LF	1,170.00	\$1.90	\$2,223.00
		0020	0870	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	2,410.00	0.00	2,410.00	LF	2,410.00	\$6.90	\$16,629.00
		0020	0880	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	13.00	0.00	13.00	EA	13.00	\$1,300.00	\$16,900.00

Revision 3/23/2023 Page 7 of 17



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change	Total Current	Unit	Total Posted	Unit Price	Total Value POSTED To Date (See report
							Order	Quantity		Approved Qty		generated date)
0315-C04	J4P3488	0020	0890	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	1.00	0.00	1.00	EA	1.00	\$1.10	\$1.10
		0040	0900	9031010	CONCRETE FOOTINGS, EMBEDDED	1.50	1.80	3.30	CUYD	3.30	\$830.00	\$2,739.00
		0040	0910	9031220	PIPE POSTS	1,620.00	190.00	1,810.00	LB	1,810.00	\$5.80	\$10,498.00
		0040	0920	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	2.00	0.00	2.00	EA	2.00	\$230.00	\$460.00
		0040	0925	9031270A	2 IN. PSST POST - 12 GA.	288.00	-32.00	256.00	LF	256.00	\$17.75	\$4,544.00
		0040	0930	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	2.00	0.00	2.00	EA	2.00	\$77.50	\$155.00
		0040 0940 9031280 2.5 IN. PSST POST - 12 GA. 288.00 64.00 352.00 LF 352.00 \$1							\$18.60	\$6,547.20		
		0040	0950	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	18.00	3.00	21.00	EA	21.00	\$197.30	\$4,143.30
		0040	0960	9035004A	SH-FLAT SHEET	397.00	3.00	400.00	SQFT	400.00	\$24.30	\$9,720.00
		0040	0970	9035011A	ST-STRUCTURAL	84.00	0.00	84.00	SQFT	84.00	\$31.00	\$2,604.00
		0040	0980	9039902	MISC.BOLT DOWN SIGN FOOTING	18.00	-4.00	14.00	EA	14.00	\$238.50	\$3,339.00
		0040	0990	9039902	MISC.REMOVE AND RESET SIGN	2.00	2.00	4.00	EA	4.00	\$420.00	\$1,680.00
		0010	5001	2029903	MISC.REMOVE GUARDRAIL	0.00	200.00	200.00	LF	200.00	\$10.50	\$2,100.00
		0010	5002	6069902	MISC.R&R 25' W-BEAM PANEL (MGS)	0.00	2.00	2.00	EA	2.00	\$295.05	\$590.10
		0040	5003	9039901	MISC.SIGN REMOVALS	0.00	1.00	1.00	LS	1.00	\$5,145.00	\$5,145.00
		0040	5004	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	0.00	2.00	2.00	EA	2.00	\$197.30	\$394.60
	Project J	4P3488 - To	tal Value	Posted to D	Date as of Report Generated Date							\$2,118,398.3
315-C04 Ove	erall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$2,118,398.35

Page 8 of 17 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4P3488

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0340	6161030	TYPE III MOVEABLE BARRICADE	12/20/24	12/27/24	30.00	EA	Rte 291 - Rte 58					
0390	6200003	PREF THERMO PAVEMENT MARKING, 4 IN WHITE	12/16/24	12/20/24	144.00	LF	Rte 291 - Rte 58 - Hubach Hill					
0400	6200018	PREF THERMO PVMT MARK, 24 IN YELLOW	12/16/24	12/20/24	57.00	LF	Rte 291 - Rte 58 - Hubach Hill					
0410	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	12/16/24	12/20/24	5,587.00	LF	Rte 291 - Rte 58 - Hubach Hill					
0420	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	12/16/24	12/20/24	3,098.00	LF	Rte 291 - Rte 58 - Hubach Hill					
0925	9031270A	2 IN. PSST POST - 12 GA.	12/27/24	12/27/24	32.00	LF	Rte 291 & Hubach Hill Rd.					CO 3 Speed Limit Signs
0960	9035004A	SH-FLAT SHEET	12/27/24	12/27/24	3.00	SQFT	Hubach Hill Rd					CO 3 - No Thru Trucks
0990	9039902	MISC.	12/27/24	12/27/24	2.00	EA	Rte 291 & Hubach Hill Rd					CO 3 - Speed Limit signs
5003	9039901	MISC. HIGHWAY SIGNING	12/27/24	12/27/24	1.00	LS	Rte 291 N & S - Rte 58 E					CO 3 - Advanced warning signs off project.
5004	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	12/27/24	12/27/24	2.00	EA	Rte 291 & Hubach Hill Rd					CO 3 - Speed Limit signs.

<u>The information below this line are details for Construction Signs (if applicable).</u>

No Data Available

Revision 3/23/2023 Page 9 of 17



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks		
J4P3488	0040	EMBANKMENT IN PLACE	Material		3	Oct 15, 2024	SYSTEM	\$2,267.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
					3	Oct 15, 2024	SYSTEM	(\$2,267.00)			
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0040 -	Total						\$0.00			
	0050	COMPACTING EMBANKMENT	Material		3	Oct 15, 2024	SYSTEM	\$3,760.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mosesj2 overridding Payment Estimate Exception 2 on the current Payment Estimate.		
					3	Oct 15, 2024	SYSTEM	(\$3,760.00)			
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0050 -	Total						\$0.00			
	0800	TYPE 5 AGGREGATE FOR BASE (6 IN.	Material		4	Nov 4, 2024	SYSTEM	\$127,212.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
		THICK)			4	Nov 4, 2024	SYSTEM	(\$127,212.50)			
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0080 -	Total						\$0.00			
	0090	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		6	Dec 2, 2024	SYSTEM	\$3,087.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
					6	Dec 2, 2024	SYSTEM	(\$3,087.00)			
					7	Dec 16, 2024	SYSTEM	\$3,087.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
					7	Dec 16, 2024	SYSTEM	(\$3,087.00)			
					8	Jan 2, 2025	SYSTEM	\$3,087.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
					8	Jan 2, 2025	SYSTEM	(\$3,087.00)			
				- Total				\$0.00			
			Material - To	otal				\$0.00			
	0090 -	Total						\$0.00			
	0100	CONCRETE PAVEMENT (9 1/2 IN. NON-REINF,	Material		5	Nov 18, 2024	SYSTEM	\$504,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
								5	Nov 18, 2024	SYSTEM	(\$504,000.00)
									6	Dec 2, 2024	SYSTEM
						6	Dec 2, 2024	SYSTEM	(\$570,952.80)		
					7	Dec 16, 2024	SYSTEM	\$570,952.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mosesj2 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
					7	Dec 16, 2024	SYSTEM	(\$570,952.80)			
					8	Jan 2, 2025	SYSTEM	\$570,952.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mosesj2 overridding Payment Estimate Exception 3 on the current Payment Estimate.		
					8	Jan 2, 2025	SYSTEM	(\$570,952.80)			
				- Total				\$0.00			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
P3488	0100	CONCRETE	Material - T	otal				\$0.00					
		PAVEMENT (9 1/2 IN. NON-REINF,	Other Item Adjustment	PCCS	8	Jan 2, 2025	mosesj2	\$2,509.20	Lot 1 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
					8	Jan 2, 2025	mosesj2	\$2,689.20	Lot 2 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
					8	Jan 2, 2025	mosesj2	\$6,975.00	Lot 3 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
					8	Jan 2, 2025	mosesj2	\$2,098.80	Lot 4 strength adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
				PCCS - Tota	al			\$14,272.20					
				PCCT	8	Jan 2, 2025	mosesj2	\$2,509.20	Lot 1 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
					8	Jan 2, 2025	mosesj2	\$2,689.20	Lot 2 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
					8	Jan 2, 2025	mosesj2	\$5,719.50	Lot 3 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 104.1.				
					8	Jan 2, 2025	mosesj2	\$2,098.80	Lot 4 thickness adjustment based on MoDOT Pavement Quality Analysis, Passing Within Limits (PWL), Pay Factor (PF) of 105.				
				PCCT - Tota	al			\$13,016.70					
			Other Item	Adjustment -	Total			\$27,288.90					
	0100 -	Total						\$27,288.90					
	0130	FRENCH UNDERDRAIN	Material		7	Dec 16, 2024	SYSTEM	\$8,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.				
					7	Dec 16, 2024	SYSTEM	(\$8,050.00)					
				- Total				\$0.00					
			Material - T	otal				\$0.00					
	0130 -	Total						\$0.00					
	0150	MISC. CONCRETE	Material		6	Dec 2, 2024	SYSTEM	\$100,758.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.				
					6	Dec 2, 2024	SYSTEM	(\$100,758.00)					
					7	Dec 16, 2024	SYSTEM	\$100,758.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 7 on the current Payment Estimate.				
					7	Dec 16, 2024	SYSTEM	(\$100,758.00)					
									8	Jan 2, 2025	SYSTEM	\$100,758.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$100,758.00)					
				- Total				\$0.00					
			Material - To	otal				\$0.00					
	0150 -	Total						\$0.00					
	0160	CONCRETE GUTTER TYPE A	Material		7	Dec 16, 2024	SYSTEM	\$4,998.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mosesj2 overridding Payment Estimate Exception 9 on the current Payment Estimate.				
					7	Dec 16, 2024	SYSTEM	(\$4,998.00)					
					8	Jan 2, 2025	SYSTEM	\$4,998.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 8 on the current Payment Estimate.				
					8	Jan 2, 2025	SYSTEM	(\$4,998.00)					
				- Total				\$0.00					
			Material - To	otal				\$0.00					
	0160 -	Total	Material - To	otal				\$0.00 \$0.00					



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3488	0170	CURB AND GUTTER TYPE B	Material						Estimate Exception 5 on the current Payment Estimate.
		GUITER TIPE B			5	Nov 18, 2024	SYSTEM	(\$79,800.00)	
					6	Dec 2, 2024	SYSTEM	\$85,764.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$85,764.00)	
					7	Dec 16, 2024	SYSTEM	\$85,764.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mosesj2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					7	Dec 16, 2024	SYSTEM	(\$85,764.00)	
					8	Jan 2, 2025	SYSTEM	\$85,764.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mosesj2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$85,764.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0170 -	Total						\$0.00	
	0180	INTEGRAL CURB (6 IN. HEIGHT AND UNDER)	Material		5	Nov 18, 2024	SYSTEM	\$1,790.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$1,790.00)	
					6	Dec 2, 2024	SYSTEM	\$1,790.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mosesj2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$1,790.00)	
					7	Dec 16, 2024	SYSTEM	\$1,790.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user mosesj2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					7	Dec 16, 2024	SYSTEM	(\$1,790.00)	
					8	Jan 2, 2025	SYSTEM	\$1,790.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mosesj2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$1,790.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0180 -							\$0.00	
	0230	MISC. PAVED DRAINAGE	Material		5	Nov 18, 2024	SYSTEM	\$14,840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Nov 18, 2024	SYSTEM	(\$14,840.00)	
					6	Dec 2, 2024	SYSTEM	\$14,840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mosesj2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$14,840.00)	
					7	Dec 16, 2024	SYSTEM	\$14,840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user mosesj2 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					7	Dec 16, 2024	SYSTEM	(\$14,840.00)	
					8	Jan 2, 2025	SYSTEM	\$14,840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user mosesj2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$14,840.00)	
				- Total				\$0.00	



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3488	0230	MISC. PAVED DRAINAGE	Material - To	otal				\$0.00	
	0230 -	Total						\$0.00	
	0240	MISC. PAVED DRAINAGE	Material		6	Dec 2, 2024	SYSTEM	\$26,548.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user mosesj2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$26,548.20)	
					7	Dec 16, 2024	SYSTEM	\$26,548.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user mosesj2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					7	Dec 16, 2024	SYSTEM	(\$26,548.20)	
					8	Jan 2, 2025	SYSTEM	\$26,548.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user mosesj2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$26,548.20)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0240 -	Total						\$0.00	
	0350	CMS WITH COMMUNICATION INTERFACE, CONT F	Material		1	Sep 16, 2024	SYSTEM	\$19,740.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user mosesj2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Sep 16, 2024	SYSTEM	(\$19,740.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0350 -	Total						\$0.00	
	0400	PREF THERMO PVMT MARK, 24 IN YELLOW	Material		8	Jan 2, 2025	SYSTEM	\$1,482.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user mosesj2 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$1,482.00)	
				- Total				\$0.00	
		Material - Total						\$0.00	
	0400 -	Total	Material					\$0.00	
	0410	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT		Material		8	Jan 2, 2025	SYSTEM	\$3,352.20
					8	Jan 2, 2025	SYSTEM	(\$3,352.20)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0410 -							\$0.00	
	0420	6 IN. WHITE HIGH BUILD WATERBORNE	Material		8	Jan 2, 2025	SYSTEM	\$2,323.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mosesj2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
		PAINT			8	Jan 2, 2025	SYSTEM	(\$2,323.50)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0420 -	Total						\$0.00	
	0500	24 IN. PIPE GROUP A	Material		3	Oct 15, 2024	SYSTEM	\$14,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Oct 15, 2024	SYSTEM	(\$14,600.00)	
					4	Nov 4, 2024	SYSTEM	\$14,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user mosesj2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Nov 4,	SYSTEM	(\$14,600.00)	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1P3488	0500	24 IN. PIPE GROUP A	Material			2024			
		GROUP A		- Total				\$0.00	
			Material - To	otal				\$0.00	
	0500 -	Total						\$0.00	
	0540	MISC. MANHOLES AND DROP INLETS	Material		4	Nov 4, 2024	SYSTEM	\$8,238.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user mosesj2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Nov 4, 2024	SYSTEM	(\$8,238.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0540 -	Total						\$0.00	
	0550	MISC. MANHOLES AND DROP INLETS	Material		3	Oct 15, 2024	SYSTEM	\$43,804.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Oct 15, 2024	SYSTEM	(\$43,804.00)	
					4	Nov 4, 2024	SYSTEM	\$43,804.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user mosesj2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Nov 4, 2024	SYSTEM	(\$43,804.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0550 -	Total						\$0.00	
	0590	18 IN, GROUP C FLARED END SEC	Material		3	Oct 15, 2024	SYSTEM	\$399.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mosesj2 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					3	Oct 15, 2024	SYSTEM	(\$399.00)	
					4	Nov 4, 2024	SYSTEM	\$798.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					4	Nov 4, 2024	SYSTEM	(\$798.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0590 - Total							\$0.00	
	0630	SEEDING - COOL SEASON GRASSES	Material		7	Dec 16, 2024	SYSTEM	\$3,512.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user mosesj2 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					7	Dec 16, 2024	SYSTEM	(\$3,512.25)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0630 -	Total						\$0.00	
	0660	ROCK DITCH CHECK	Material		3	Oct 15, 2024	SYSTEM	\$1,365.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user mosesj2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					3	Oct 15, 2024	SYSTEM	(\$1,365.00)	
				- Total				\$0.00	
			Material - To					\$0.00	
	0660 -	Total						\$0.00	
	0710	SILT FENCE	Material		2	Oct 1, 2024	SYSTEM	\$2,485.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user vanwih2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Oct 1,	SYSTEM	(\$2,485.00)	
				- Total		2024		\$0.00	



oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3488	0710	SILT FENCE	Material - T					\$0.00	
	0710 -	Total						\$0.00	
	0790	LUMINAIRE, LED- A	Material		7	Dec 16, 2024	SYSTEM	\$4,160.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mosesj2 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					7	Dec 16, 2024	SYSTEM	(\$4,160.00)	
					8	Jan 2, 2025	SYSTEM	\$4,160.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user mosesj2 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					8	Jan 2, 2025	SYSTEM	(\$4,160.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0790 -	Total						\$0.00	
	0810	CONDUIT, 2 IN. RIGID, IN TRENCH	Material		6	Dec 2, 2024	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user mosesj2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$2,000.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0810 -	Total						\$0.00	
	0840	PULL BOX, PREFORMED CLASS 1	Material		6	Dec 2, 2024	SYSTEM	\$13,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user mosesj2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$13,600.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0840 -	Total						\$0.00	
	0910	PIPE POSTS	Material		6	Dec 2, 2024	SYSTEM	\$10,498.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user mosesj2 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$10,498.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0910 -	Total						\$0.00	
	0920	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Material		6	Dec 2, 2024	SYSTEM	\$460.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user mosesj2 overridding Payment Estimate Exception 17 on the current Payment Estimate.
		TUBE)			6	Dec 2, 2024	SYSTEM	(\$460.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0920 -	Total						\$0.00	
	0925	2 IN. PSST POST - 12 GA.	Material		6	Dec 2, 2024	SYSTEM	\$3,976.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user mosesj2 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$3,976.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0925 -							\$0.00	
	0940	2.5 IN. PSST POST - 12 GA.	Material		6	Dec 2, 2024	SYSTEM	\$6,547.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user mosesj2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					6	Dec 2, 2024	SYSTEM	(\$6,547.20)	

Jan 7, 2025



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3488	0940	2.5 IN. PSST	Material	- Total				\$0.00	
		POST - 12 GA.	Material - To	otal				\$0.00	
	0940 -	Total					\$0.00		
J4P3488 -	- Total						\$27,288.90		
Overall -	Total						\$27,288.90		

MoDOT

Contract Adjustments for Contract - 240315-C04

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 17 of 17